
14027

Abbreviations and symbols explanation: 
cs	 =  crochet stitch
r 	 = knit one

vr				   = purl one
together  	  =   tog
* 				    =  repeat from * to *

Cast on 60 stitches / 40 stitches on No. 3 double pointed sock knitting needles – distribute the stitches on 3 or 4 knitting needles.

Knit the pattern * K3, P2 *. Repeat from * to * for 4 rounds.
Shift the pattern on the 5th round by   1 stitch and knit * K2, P2, K1 * '. 		  Repeat from * to * for 4 rounds.
Shift the pattern on the 9th round by   1 stitch and knit * K1, P2, K2 * '. 		  Repeat from * to * for 4 rounds.
Shift the pattern on the 13th round by 1 stitch and knit * P2, K3 * '. 		  Repeat from * to * for 4 rounds.
Shift the pattern on the 17th round by 1 stitch and knit * P1, K3, P1 * '. 		  Repeat from * to * for 4 rounds. 

Continue the pattern in the same manner from the beginning until the desired length is reached. Finish with K3, P2 rounds.

Decreasing for the toe: 

Knit * K1, K2 tog, P2 * in the 1st round. 	 Repeat from * to *.
Knit * K2, P2 * in the 2nd round. 		  Repeat from * to *.
Knit * K2, P2 tog * in the 3rd round. 		  Repeat from * to *.
Knit * K2, P1 * in the 4th round. 		  Repeat from * to *.
Knit * K2 tog, P1 * in the 5th round. 		  Repeat from * to *.
Knit * K1, P1 * in the 6th round. 		  Repeat from * to *.
Knit all the stitches K2 tog in the 7th round. 

Break the yarn and pull the end of the yarn through the remaining stitches and secure it. 

If the adult sock  measures 55 cm (children 45 cm) prior to decreasing for the toe, it will be a medium size in use. 

Socks knitted in a spiral pattern  
One size for adults / one size for children 

Yarn requirement for one pair of socks: 2 balls of sock yarn


